Home Performance with Energy Star

Pre-Test with Answers
1.  Homes constructed today have a cost-effective opportunity for energy-efficiency improvement of about: 
a. 0% - 20%
b. 20% - 40%

c. 40% - 60%

d. 60% - 80%

2.  The 2005 changes to the California Energy Code (Title 24) increased the modeled framing factor (the amount of solid wood in the exterior walls) by how much?

a. 0%

b. 15%

c. 30%

d. 60%  (from 15% to 25%)
3.  What is the largest category of heat loss in a “standard” California Title-24 house located in the Sacramento-San Joaquin valley?
a. Air Infiltration

b. Windows
c. Slab Edge
d. Walls
e. Ducts
f. Ceiling
s
4.  What is the smallest category of heat loss in a “standard” California Title-24 house located in the Sacramento-San Joaquin valley?
a. Air Infiltration
b. Windows
c. Slab Edge
d. Walls
e. Ducts
f. Ceilings
5.  Over the last 10 years the overall thermal performance of new residential envelopes has increased how much?

a. 0%  (evidence indicates that thermal performance has decreased)
b. 15%

c. 30%

d. 60%













(Over)

6.  Wood conducts heat how many times faster than fiberglass batt insulation:

a. 2 times faster

b. 4 times faster

c. 20 times faster

d. About the same

7.  Steel conducts heat how many times faster than fiberglass batt insulation:

a. 20 times faster

b. 40 times faster

c. 200 times faster

d. 1,200 times faster

8.  The 2005 changes to the California Energy Code (Title 24) reduced the modeled thermal performance of ceiling assemblies how much?

a. 0%

b. 15%

c. 30%

d. 50%

9.  The 2005 changes to the California Energy Code (Title 24) reduced the modeled thermal performance of wall assemblies how much?

a. 0%

b. 15%

c. 30%

d. 50%

10.  Installing solar electric systems costs about $9.00 per watt of capacity.  Each installed watt will generate about one kilowatt-hour of electricity a year.  Investing the same $9.00 in compact fluorescent light bulbs will save one kilowatt-hour in about what length of time?

a. four hours

b. four weeks

c. four months

d. four years

11.  Retrofitting a conventional storage type natural gas water heater with a tankless natural gas water heater has a simple payback of?
a. 10 weeks

b. 10 months

c. 1 year
d. 3 years

e. 10 years

f. 100 years  (eliminating standby losses by switching to a tankless water heater will save about 22% of the $15.00 per month that the average family spends on natural gas to heat water – $40.00/year.  Retrofit costs average $4,000.00 yielding a 100 year payback)
